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@An oil of viscosity 9 poise and specific gravity 0.9 is flowing through a horizontal pipe of 60 mm diameter. If pressure
drop in 100 m of the pipe is 1800 KN/m?, determine,
L

whRate of flow of oil, WA entreline velocity
(111) velocity gradient at pipe wall
(1v) velocity and shear stress at 8 mm from the pipe wall
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Two parallel plates kept 100mm apart have laminar flow of oil (of viscosity 24.5 poise) between them with a
maximum velocity of 1.5 m/s, Calculate:

(i) Discharge per meter width, (ii) Shear stress at the plates

(iii) Difference in pressure between two points 20 m apart
(iv) Velocity gradient at the plates

(v) Velocity at 20 mm from the plate.
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* Flow rate of fluid (density 1000 kg/m?) in a small diameter tube is 800
mm?3/sec. The length and diameter of the tube are 2 m and 0.5 mm. The
pressure drop in 2 m length 1s 2 MPa. Find the viscosity of fluid.
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